Problem Solving (D our turr

| A rectangle is cut into two pieces. 2

A B

6 cm A B
The area of B is HO/ of the area

of the rectangle.

2

The area of B is = of the area of

7 A is cut in half to make shape C

and D.

the rectangle.

The area of A is 36 cm? greater The area of B is 8 cm? greater

than the area of B. than the area of C and D.

What is the length of the What is the area of the whole

rectangle? rectangle?
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Problem Solving (D vour tumn

3 Tommy is getting a taxi home.

The taxi company charges at the

following rate.

Taxi Fares
First S mins £3.80
Next 5 mins £310
Every following minute 40p

The taxi leaves school at 347 p.m.
It arrives at Tommy’s home at 16.04

How much does the fare cost?
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H Evais getting a taxi home.

The taxi company charges at the

following rate.

Taxi Fares
First 3 km £380
Next S km £310
Every following km 40p

This is her journey home.
2 km

EHE E&

2,800 m

300 m

How much does the fare cost?
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